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Note : Answer questions from all the Sections as 

per instructions. 

 Section—A  

1. Answer any two questions from this Section 

in about 500 words each : 2×20=40 

 (i) What is meant by steady state growth  

path ? In the Solow model, what is the 

condition for steady state ? Draw 

appropriate diagram to explain it. 
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 (ii) In the Fisher’s two-period model, 

assume that consumption is a normal 

good and the consumer is a net 

borrower. If there is an increase in the 

rate of interest, analyse its impact on 

consumption of both the time periods. 

 (iii) Describe the quantity theory of money 

re-formulated by Friedman. What are 

the factors that influence the demand 

for money ? 

 (iv) Define various concepts of budget 

deficit. What are the methods of 

financing of budget deficit ? 

 Section—B  

2. Answer any four questions from this 

Section in about 250 words each : 4×12=48 

 (i) Give a brief account of the various 

channels of transmission of monetary 

policy. 
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 (ii) Explain how a ‘loss function’ can 

describe the options before the central 

bank regarding unemployment and 

output. 

 (iii) Explain with appropriate diagrams, 

how output and employment are 

determined according to the classical 

theory on macro-economics. 

 (iv) What are the main arguments of the 

permanent income hypothesis ? What 

are its implications ? 

 (v) What is a business cycle ? What are its 

salient features ? 

 (vi) What is meant by endogenous growth 

models ?  Point out the basic 

assumptions on which such models are 

based. 
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Section—C 

3. Write short notes on any two of the 

following in about 100 words each : 2×6=12 

 (a) Schumpeter’s Innovation Theory of 

Business Cycle 

 (b) Tobin’s q-theory 

 (c) Policy lags 

 (d) Crowding-out of private investment 
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 BECC–109 

ch- ,- (vkWulZ) vFkZ'kkL=  

(ch- ,- bZ- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-bZ-lh-lh-&109 % e/;orhZ lef"V vFkZ'kkL=&II 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % lHkh Hkkxksa esa ls iz'uksa ds mÙkj funsZ'kkuqlkj nhft,A 

 Hkkx&d  

1- bl Hkkx esa ls fdUgha nks iz'uksa ds mÙkj yxHkx 500 'kCnksa 

(izR;sd) esa nhft, % 2×20=40 

 (i) LFkk;h voLFkk fodkl iFk ls D;k vfHkizk; gS \ 

lksyks ekWMy esa LFkk;h voLFkk dh D;k 'krZ gS \ bl 

Li"V djus ds fy, mi;qDr vkjs[k cukb,A 
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 (ii) fQ'kj ds f}&vkof/kd ekWMy esa] eku yhft, fd 

miHkksx ,d lkekU; oLrq gS vkSj miHkksDrk ,d 'kq¼ 

½.kh gSA ;fn C;kt dh nj esa o`f¼ gksrh gS] rks bldk 

nksuksa vof/k;ksa ds miHkksx ij izHkko dk fo'ys"k.k 

dhft,A 

 (iii) ÝhMeSu ds }kjk iqu%lwf=r eqæk ds ifjek.k fl¼kUr 

dk o.kZu dhft,A eqæk dh ek¡x dks izHkkfor djus 

okys dkjd D;k gSa \ 

 (iv) ctV ?kkVs dh fofHkUu vo/kkj.kkvksa dks ifjHkkf"kr 

dhft,A ctV ?kkVs ds foÙkh;u dh fofHkUu fof/k;k¡ 

D;k gSa \  

 Hkkx&[k  

2- bl Hkkx esa ls fdUgha pkj iz'uksa ds mÙkj yxHkx 250 'kCnksa 

(izR;sd) esa nhft, % 4×12=48 

 (i) ekSfæd uhfr ds lapkj.k ds fofHkUu pSuyksa dk laf{kIr 

fooj.k nhft,A 
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 (ii) crkb, fd fdl izdkj ,d ^gkfu Qyu* csjkstxkjh 

vkSj mRiknu ds lEcU/k esa dsUæh; cSad ds le{k 

fodYiksa dk o.kZu dj ldrk gSA 

 (iii) lef"V vFkZ'kkL= esa Dykfldh; fl¼kUr ds vuqlkj 

mRiknu vkSj jkstxkj dk fu/kkZj.k dSls fd;k tkrk  

gS] mfpr vkjs[kksa ds lkFk le>kb,A 

 (iv) LFkk;h vk; ifjdYiuk ds eq[; rdZ D;k gSa \ blds 

fufgrkFkZ D;k gSa \ 

 (v) O;olk; pØ D;k gS \ bldh eq[; fo'ks"krk,¡ D;k 

gSa \ 

 (vi) vUrtkZr lao`f¼ ekWMy ls D;k vfHkizk; gS \ og 

ewy vo/kkj.kk,¡ crkb, ftl ij ;g ekWMy vk/kkfjr 

gSA 
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Hkkx&x 

3- fuEufyf[kr esa ls fdUgha nks ij yxHkx 100 'kCnksa 

(izR;sd) esa nhft, % 2×6=12 

 (a) 'kqEiVj dk O;olk; pØ dk uoizorZu fl¼kUr 

 (b) VkWfcu dk q&fl¼kUr 

 (c) uhfr vUrjkyA 

 (d) futh fuos'k dk Îkldkjh izHkko (ØkmfMax&vkmV) 

× × × × × 

 

 

 

 

 

 

 

 

 


